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° %mv’ 1s called the final KE of translation of the body;

. %-mu-2 15 the initial KE of the hody.
Thatis, work done = change in KE
or W = Fs = KE, where u = 0
The KE of a body of mass m moving with velocity v is
given by

| KB = %mvz (1)
When the KE of a body is known. the velocity of the
body can be calculated from

v = \V2KE/m
Note that the KE of a body of fixed mass 1S
proportional 1o its velocity squared, and KE of a body
moving at constant velocity is proportional to its mass.

h&-\»




























.
+
v
¢ ]
i L
i
. 18
" i
® L .
i i
i . i
.
.
A b
. -
i TEA L
i » | ) |
i
] ' ]
. 1
















.
=
wa
§-
=
- Th+ -
[ .
S .
- -
-
F Al
il a” r
— — [
o v -~
- .
— 1.
= i
Ce imd —
N
- - -
L .
- - -
- ..l. .1l-l.1. -













